Wilson coefficient Others fixed to SM Others floating
x 10° SM expected Observed SM expected Observed
cpxx = —Cryy [—0.96;0.96] [—0.9; 1.03] [—0.96; 0.96] [—0.9; 1.03]
CLXY = CLYX [-0.97;0.97] [-1.92;0.0] [—0.97;097] [—1.94; —0.02]
CLxz = CLzX [—3.23;3.23] [—-0.97;5.49] [—3.23;3.23] [—0.92;5.54]
CLyz = CLzy [—3.24;3.24] [—4.61;1.85] [—3.24;3.24] [—4.64;1.82]
CRXX = —CRYY [—1.7,1.7] [—1.65;1.77] [—1.7,1.7] [—1.66; 1.76]
CRXY = CRYX [—1.71; 1.71] [0.09; 3.5] [—1.71; 1.71] [0.12; 3.52]
CRX7Z = CRZX [-5.78;5.78]  [—9.36;2.2] [—5.78;,5.78] [—9.45;2.11]
CRYZ = CRZY [—5.8;5.8] [—3.82;7.76] [—5.8;5.8] [—3.77,7.82]
Cxx = —Cyy [—2.17;217] [-1.76;2.62] [—2.17;217] [—1.83;2.55]
Cxy = Cyx [—2.18;2.18] [—4.23;0.17] [—2.18;2.18] [—4.31;0.09]
Cxz = Czx [—7.21;7.21] [-149;13.07] [-7.21;7.21] [-—1.29;13.27]
Cyz = Czy [—7.24;,7.24] [-11.05;3.38] [—7.24;,7.24] [—11.21;3.28]
dyx = —dyy [—0.61; 0.61] [—0.6; 0.63] [—0.61;0.61] [—0.59; 0.64]
dxy = dyx [—0.62;0.62] [—1.24; —0.01] [-0.62;0.62] [—1.25; —0.02]
Ay, =dzx [—2.07;2.07] [—0.68; 3.46] [—2.08;2.07] [—0.65;3.49]
dy, =dgy [—2.08; 2.08] [—2.9; 1.25] [—2.08;2.08] [—2.92;1.23]



